

An elementary remark on the distribution of integers representable by a positive-definite integral binary quadratic form

By

PIERRE KAPLAN and KENNETH S. WILLIAMS *)

In this note we prove an elementary result concerning the distribution of the positive integers which are represented by a positive-definite integral binary quadratic form

Theorem 1. *Let $f(X, Y) = aX^2 + bXY + cY^2$ be a positive-definite integral binary quadratic form of discriminant $-\Delta (= b^2 - 4ac < 0)$. Let m_1 be the least positive integer represented by f . Then, for every integer $n \geq m_1$, there exist integers x and y such that*

$$n < ax^2 + bxy + cy^2 < n + 2m_1^{1/4} \Delta^{1/4} n^{1/4} + m_1.$$

Proof. Replacing the form f by an equivalent form we may suppose that $m_1 = c$. We define integers x and y by

$$x = \left[\left(\frac{4cn}{\Delta} \right)^{1/2} \right], \quad y = \left[\frac{(4cn - \Delta x^2)^{1/2} - bx}{2c} \right] + 1.$$

Next we define real numbers ε and δ by

$$\varepsilon = \left\{ \left(\frac{4cn}{\Delta} \right)^{1/2} \right\}, \quad \delta = \left\{ \frac{(4cn - \Delta x^2)^{1/2} - bx}{2c} \right\},$$

where $\{\theta\} = \theta - [\theta]$ denotes the fractional part of the real number θ , so that

$$0 \leq \varepsilon < 1, \quad 0 \leq \delta < 1,$$

and

$$x = \left(\frac{4cn}{\Delta} \right)^{1/2} - \varepsilon, \quad y = \frac{(4cn - \Delta x^2)^{1/2} - bx}{2c} + (1 - \delta).$$

*) Research supported by Natural Sciences and Engineering Research Council of Canada Grant A-7233.

Then we have

$$\begin{aligned}
 ax^2 + bxy + cy^2 &= ax^2 + \frac{1}{c}(cy)(bx + cy) \\
 &= ax^2 + \frac{1}{c} \left(\frac{(4cn - \Delta x^2)^{1/2} - bx}{2} + c(1 - \delta) \right) \left(\frac{(4cn - \Delta x^2)^{1/2} + bx}{2} + c(1 - \delta) \right) \\
 &= ax^2 + \frac{1}{c} \left(\frac{4cn - \Delta x^2 - b^2 x^2}{4} + c(1 - \delta)(4cn - \Delta x^2)^{1/2} + c^2(1 - \delta)^2 \right) \\
 &= n + (1 - \delta)(4cn - \Delta x^2)^{1/2} + c(1 - \delta)^2 \quad (\text{as } \Delta = 4ac - b^2) \\
 &= n + (1 - \delta)(4\epsilon c^{1/2} \Delta^{1/2} n^{1/2} - \Delta \epsilon^2)^{1/2} + c(1 - \delta)^2.
 \end{aligned}$$

Clearly we have

$$n < ax^2 + bxy + cy^2 < n + 2c^{1/4} \Delta^{1/4} n^{1/4} + c,$$

as asserted. \square

Corollary 1. *With the same notation and assumptions as in Theorem 1, for every integer $n \geq m_1$, there exist integers x and y such that*

$$n < ax^2 + bxy + cy^2 < n + \frac{2}{3^{1/8}} \Delta^{3/8} n^{1/4} + \frac{\Delta^{1/2}}{3^{1/2}}.$$

Proof. This follows immediately from Theorem 1 and the well-known bound $m_1 \leq \left(\frac{\Delta}{3}\right)^{1/2}$ [1: p. 30], [3: Theorem]. \square

Our second theorem improves Theorem 1 in the case when $f(X, Y) = aX^2 + cY^2$ and $n \geq c^3/a^2$. This generalizes a theorem of Uchiyama [2: Theorem 1].

Theorem 2. *Let $aX^2 + cY^2$ be a positive-definite integral binary quadratic form with $a \leq c$. Then, for every integer $n \geq c^3/a^2$, there exist integers x and y such that*

$$n < ax^2 + cy^2 < n + 2^{3/2} a^{1/2} c^{1/4} n^{1/4}.$$

Remark. Theorem 1 in this case says that for every integer $n \geq a$ there exist integers x and y such that

$$n < ax^2 + cy^2 < n + 2^{3/2} a^{1/2} c^{1/4} n^{1/4} + a.$$

Proof of Theorem 2. Let n be an integer $\geq c^3/a^2$, and set

$$E = 2c^{1/2} n^{1/2} - 2^{1/2} a^{1/2} c^{1/4} n^{1/4} + \frac{a}{4}.$$

First we show that

$$(1) \quad E > 0.$$

We have

$$\begin{aligned} E &= 2^{1/2} c^{1/4} n^{1/4} (2^{1/2} c^{1/4} n^{1/4} - a^{1/2}) + \frac{a}{4} \\ &> \frac{2^{1/2} c}{a^{1/2}} \left(\frac{2^{1/2} c}{a^{1/2}} - a^{1/2} \right) \quad (\text{as } n \geq c^3/a^2) \\ &\geq 2^{1/2} a (2^{1/2} - 1) \quad (\text{as } c \geq a) \\ &> 0, \end{aligned}$$

proving (1).

Next we show that

$$(2) \quad n - E > (n^{1/2} - c^{1/2})^2.$$

We have

$$\begin{aligned} 2^{1/2} a^{1/2} c^{1/4} n^{1/4} &\geq 2^{1/2} c \quad (\text{as } n \geq c^3/a^2) \\ &> \frac{5}{4} c \\ &\geq \frac{a}{4} + c \quad (\text{as } c \geq a) \end{aligned}$$

and so

$$n - E = (n^{1/2} - c^{1/2})^2 + \left(2^{1/2} a^{1/2} c^{1/4} n^{1/4} - \left(\frac{a}{4} + c \right) \right) > (n^{1/2} - c^{1/2})^2,$$

proving (2).

Thus we can define a real number α by

$$(3) \quad \alpha = \frac{n^{1/2} - (n - E)^{1/2}}{c^{1/2}}.$$

From (1), (2) and (3), we see that

$$(4) \quad 0 < \alpha < 1.$$

We also note that

$$(5) \quad \alpha^2 = \frac{2n^{1/2}}{c^{1/2}} \alpha - \left(\frac{2n^{1/2}}{c^{1/2}} - \frac{2^{1/2} a^{1/2} n^{1/4}}{c^{3/4}} + \frac{a}{4c} \right).$$

Further we have

$$\begin{aligned} \alpha &= \frac{E}{c^{1/2} (n^{1/2} + (n - E)^{1/2})} \\ &> \frac{E}{2c^{1/2} n^{1/2}} \\ &= 1 - \frac{a^{1/2}}{2^{1/2} c^{1/4} n^{1/4}} + \frac{a}{8c^{1/2} n^{1/2}} \\ &> \frac{7}{8} - \frac{a^{1/2}}{2^{1/2} c^{1/4} n^{1/4}} \\ &\geq \frac{7}{8} - \frac{a^{1/2} n^{1/4}}{2^{1/2} c^{3/4}} \quad \left(\text{as } n \geq \frac{c^3}{a^2} \geq c \right) \end{aligned}$$

so that

$$(6) \quad -2c\alpha + \frac{7c}{4} < 2^{1/2} a^{1/2} c^{1/4} n^{1/4}.$$

We set

$$\delta = \left\{ \left(\frac{n}{c} \right)^{1/2} \right\} \quad (\text{so that } 0 \leq \delta < 1)$$

and consider two cases.

Case (i): $\alpha \leq \delta$. We choose x and y to be the integers

$$x = 1, \quad y = \left[\left(\frac{n}{c} \right)^{1/2} \right] + 1 = \left(\frac{n}{c} \right)^{1/2} + 1 - \delta,$$

so that

$$ax^2 + cy^2 = n + c(1 - \delta)^2 + 2c^{1/2} n^{1/2} (1 - \delta) + a.$$

Clearly we have $n < ax^2 + cy^2$. Further we have

$$\begin{aligned} ax^2 + cy^2 &\leq n + c(1 - \alpha)^2 + 2c^{1/2} n^{1/2} (1 - \alpha) + a \quad (\text{as } \alpha \leq \delta < 1) \\ &= n + c\alpha^2 - (2c + 2c^{1/2} n^{1/2})\alpha + (c + 2c^{1/2} n^{1/2} + a) \\ &= n + 2^{1/2} a^{1/2} c^{1/4} n^{1/4} - 2c\alpha + c + \frac{3a}{4} \quad (\text{by (5)}) \\ &\leq n + 2^{1/2} a^{1/2} c^{1/4} n^{1/4} - 2c\alpha + \frac{7c}{4} \quad (\text{as } c \geq a) \\ &< n + 2^{3/2} a^{1/2} c^{1/4} n^{1/4} \quad (\text{by (6)}). \end{aligned}$$

Case (ii): $\delta < \alpha$. We choose x and y to be the integers

$$x = \left[\left(\frac{n - cy^2}{a} \right)^{1/2} \right] + 1, \quad y = \left[\left(\frac{n}{c} \right)^{1/2} \right] = \left(\frac{n}{c} \right)^{1/2} - \delta.$$

Set

$$\varepsilon = \left\{ \left(\frac{n - cy^2}{a} \right)^{1/2} \right\},$$

so that

$$0 \leq \varepsilon < 1, \quad x = \left(\frac{n - cy^2}{a} \right)^{1/2} + (1 - \varepsilon),$$

and

$$ax^2 + cy^2 = n + 2(1 - \varepsilon)a^{1/2}c^{1/4}(2n^{1/2}\delta - c^{1/2}\delta^2)^{1/2} + a(1 - \varepsilon)^2.$$

Clearly $ax^2 + cy^2 > n$. Further we have

$$\begin{aligned} ax^2 + cy^2 &\leq n + 2a^{1/2}c^{1/4}(2n^{1/2}\delta - c^{1/2}\delta^2)^{1/2} + a \\ &< n + 2a^{1/2}c^{1/4}(2n^{1/2}\alpha - c^{1/2}\alpha^2)^{1/2} + a \quad (\text{as } \delta < \alpha < 1 \text{ and } n \geq c) \\ &= n + 2a^{1/2}c^{1/4}\left(2^{1/2}n^{1/4} - \frac{a^{1/2}}{2c^{1/4}}\right) + a \quad (\text{by (5)}) \\ &= n + 2^{3/2}a^{1/2}c^{1/4}n^{1/4}. \end{aligned}$$

This completes the proof of Theorem 2. \square

References

- [1] J. W. S. CASSELS, *An Introduction to the Geometry of Numbers*. Berlin-Heidelberg-New York 1971.
- [2] S. UCHIYAMA, On the distribution of integers representable as a sum of two h -th powers. *J. Fac. Sci. Hokkaido Univ. Ser. I.* **18**, 124–127 (1965).
- [3] K. S. WILLIAMS, A note on the quadratic form $ax^2 + 2bxy + cy^2$. *Math. Gaz.* **48**, 290–291 (1964).

Eingegangen am 29. 12. 1992

Anschriften der Autoren:

P. Kaplan
Département de Mathématiques
Université de Nancy 1
B.P. 239
54506 Vandœuvre Cedex
France

Kenneth S. Williams
Centre for Research in Algebra and Number Theory
Department of Mathematics and Statistics
Carleton University
Ottawa, Ontario
Canada K1S 5B6